Figure S1. Expression levels of SFMBT1 and ZHX?2 according to the database. The expression levels of (A) SFMBT1 and
(B) ZHX2 in different kidney cancer subgroups. Red represents tumor samples, while gray represents normal samples. SFMBT],
scm-like with four malignant brain tumor domains; ZHX?2, zinc fingers and homeoboxes 2; T, tumor; N, normal.
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Figure S2. OS and DFS ratse according to the database. Kaplan-Meier survival analysis of patients with renal cancer, based
on SFMBT1 and ZHX2 expression levels. (A) OS rate and (B) DFS rate curves based on SFMBT1 expression. (C) OS rate and
(D) DFS rate curves based on ZHX?2 expression. SFMBT], scm-like with four malignant brain tumor domains; ZHX2, zinc
fingers and homeoboxes 2; OS, overall survival; DFS, disease-free survival.

A B
0, . .
100% Overall Survival 100% Disease Free Survival
o o |
- T — Low SFMBT1 TPM - — Low SFMBT1 TPM
% —— High SFMBT1 TPM X —— High SFMBT1 TPM
Logrank p=0.5 Lograr_lk p=0.24
o | HR(high)=0.91 o | o HR(high)=0.84
© p(HR)=0.5 ° i, T p(HR)=0.24
n(high)=432 o TR n(high)=432
n(low)=432 - n(low)=432
© | T © | Tl
S 2°
2 g
5 o |
<
83 53
[N o
o o
o | o |
o o
T T T T T T T T
0 50 100 150 200 0 50 100 150 200
Time (months) Time (months)
C 100% Overall Survival D 100% Disease Free Survival
2w —— Low ZHX2 TPM 2 —— Low ZHX2 TPM
™ —— High ZHX2 TPM —— High ZHX2 TPM
Logrank p=0.62 Logrank p=0.11
o | HR(high)=1.1 o | HR(high)=1.3
o p(HR)=0.62 =] T -p(HR)=0.11
n(high)=431 n(high)=431
.. N(low)=432 (low)=432
© © _|
o 7 o ©
-] ®
s ©
o< | e .
o° oo
[ N
o | o
o | <
° T T T T © T T T T
0 50 100 150 200 0 50 100 150 200

Time (months) Time (months)



